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COMMERCE
(Honours Generic)

Answer the Questions from any one Option.

OPTION-A"
Paper : COM-HG-3016
(Business Statistics)

- OPTION-B
Paper : COM-HG-3026

( Operations Research in Business )

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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- . OPTION-A , L .
: Pa'.er . Co : (i) Standard Deviation (S.D.) is
' i o per : M-HG-3016 - independent on the change of
] .. (Business Statistics) - o Roem R AR @sive FéeTa
o Answer Question Nos. 1, 2, 3 and any four (@) origin
1, 2, 3 % o9 Ge7 R s 997 e A o
‘ - Rt st - (b) - scale
' ,.1. (A) Select the :cqr-r_ecf an_sﬁzer . " 1x4=4 , o (c) origin and scale
- vy Ueq fdfon = o | - TRy o Rk
() The empirical relationship betiween : (d) None of the above
- mean, median and mode is - | | @5IRT o8 TR
TG, T R TR e (i) Which of the following is a unitless
R XA R \ , measure ? . B
(@) Mean~Mode = 3 (Mean - Median) CoT CPIRCD! ol R A ?
'?IT*U—A-W=3'(’"‘U — ) ‘ (@ Median -

(b)  Mean - Median = 3 (Mean -Mode) - Wy -

o WG = WA = 3. (A -~ I%T) | (b) Standard Deviation

(¢) Mode - Mean = 3 (Mean -Median) | e Roew

- T - = 3 (W -y | ‘() Mean Deviation
(d) None of the ‘above . % Reem
89T OIS Ty (d) . Coefficient of Variation
- ~ 529 @i
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(iiij) If A and B are two independeht

() Salient features responsible -for .
Seasonal variation are : ~ events, then P(A/B)=
i,gié IO A A 527 WREPRE I A W€ B Y5 ¥oF o1 T, (9T
| P(A/B)= N
(@) weather . '
T (C) Write True -or False : 1x3=3
(b)  social custom - og (7 ST e '
(c) festival - | . ) Mean of the binomial distribution
o Bow o | s less than variance.
~(d) All of the above  fasl TR i SPRISLT FF |
SORT (MDD @?33, ' ] | | -
B . (i) Coefficient of Standard Deviation
( ) Flll in the blanks : 1x3=3 | o |
= ‘ . . O-
'«’Hﬁ”{ ﬁ R : ; s .
() The coefficient of COffelation lies -
between -1 and e Roe oliE T .
. ; =
NRITIR QNP -] G . .
A | —— e | |
' (iii) Normal distribution is a
() Variance ig denoted b& continuous distribution.
P @ qwE PN 3% T @Ry R 3
5 ' Contd.
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2. AIISWC i
, r the followmg questions : 2x5=10

WW@WM

(a) Write two
coefﬁc:lents

Properties. of ‘regression

(b) DlStlngulsh
be .
Statistic., - tween Parameter and

A>T, S eifwrter e sie R e

(c) Find E(X) for the followlng probability |

dlstnbutmn of X :

X3 AsfRe
Ffe o W‘*“me

P(X=x) : Y3 /2 124 ys

(d) State the Facto
r
Index numper T2l Test (FRT) of

WW@WWWWWI

(e) Three coins are toss
Sample space.

Wﬂmﬁt‘*ﬂwi’mwmm'

ed. Write down the

4 (Sem-3/CBCS) BST/ORBHG 1/2/6 - ¢

3.

_Answer any Jour of the followmg questions :

5x4=20

wﬁmmrmﬁfr owg Teq vl ¢

(a) Write down any five essential

(b)

characteristics of an ideal questionnaire.
93 e PR fz?mzar 551 35 AR
fern

The regression lines. have the equations
3x+2y=6 and 7x+5y=12. Find x
and 7. |

ToieT TR maﬂaﬁqi’a 3x+2Yy=6

W 7x+5y=12. nyﬁ‘fﬂWl

'

@
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Describe the procedures of testing a
hypothesis. '

o AR AIREE B

What do you mean by a “scatter
diagram” ? How can the correlation
between two variables be studied with

the help of this diagram ?

“o R oa” {F«Kﬁ% qer 2. O 5o W&
AT @2 g T (T TG T W2
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(e) Deter‘ i
distrib l.ne mode for the following () Define coefficient of variation. What are
Hibution : ’ ‘i . the special uses of this measure ? 4
vt O IT ol e R e s fpe el T | €] ks e
arxks o : .
) 15 6-10 11-15 1620 21-25 26-30 o ﬁsﬁ !
No. of Students 7; 710 1% 5. (a) () State 'gl’}e ‘multiplication law of
(e ) : 32 o 24 18 - . probability. | ’
o ‘ | SRR B ae il
(H  Writ : ' . . . '
’ ar; e1 a note on the advantages of (i) The probability that a person
' ple surve , . . - . :
P y over census method. travels by plane is % and that he
T AT QIS efforef et : ' |
89ITS GBI GBIt By | ' . ﬁﬁm : ' travels by train is %— Find the
' ‘probability of his travelling by
4. (a) Find Oy — - E lane or train. Also find the
1.and D - . P
o 4 from the following data : ~ probability of not travelling either
. ‘ g ' 6 ' by plane or train.
| ©eR AR ARl Q) Wi D, Sfexr ¢ ' | 2+3+1=6
ClaSS : 5_ . ' < l-.
0 1015 1520 2095 959 g R (ARG T TS el 5
(c) . 30-35 3540 | 2
: o Cﬁi’cﬂ@ ol IS st 3 LS,
Frequency : B ‘ '
e 1015 %5 gy g ©¢ 2 AR (ERTE T T TSIt
() . R B Sfed| ACS o AR (FRAC T
m—— i c o Ao
4 (Sem-3/CBCS) BST/ORB HG . .
12/ 8
4 (Sem-3/CBCS) BST/ORB HG 216 9 Contd.




) D . ‘ |
o efine the following terms with one

€xample :
(i) Mutually exclusive events
R ARG <o

(i) Equally likely events
TR TSR e

6. (a) Write the deﬁnition of

coefficient. - .Spearman’s rank

by 10 stude :
ST nts in .
. Statistics. ’ Mathematics and

Marks in Mathematios
(150 (1 7).
MarksinStaﬁsﬁcs. .
o LB 6

(A RS (3R ) 65 88 56 50 46

80 38 95 3 84 91 60 66 44
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(b) Interpret the values of the correlation
coefficient (r).

2+2=4
T QK (r) T T I A

(b) Expl

4 (Sem-3/CBCS) BST/ORB HG 1216 11

3

r=0, r=+1, r=-1

(@) Gi\.r_en below the bivariate data: 6

were fa5s o i Witz ¢

Xx:2 4 5 63811
y : 18 12:10 8 7 5

(i) Fita regression line of Yon X and

estimate y when X=58. | |
X eogS Y TR CRRCREESIAC S
‘X =58 A yI I T I

(i) Fit a regression line of Xon Y and

estimate X when y=99o.
Y9 @oES X T TR @ Fef w1 o
y=9-5'{CﬁX3WWWI

ain the concept of Type 1 error and
1 error associated with Testing of

Type 1
4

Statistical} hypot.l‘xeSis. _
AR 2% ~IRTPE FT i 2w 4F-
= s o e i o 751

|
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8. (@ ‘Write
e SR
distribution ? © Properties of normal
mqﬁ ﬁﬁ%mml 2+5=7
A (b) A r;ndiT Wﬁ;%%ﬁﬁl |
variable. X follows Poisson

. at P(X= -
Find mean and va(.n'an’ccze P(X=lk+1).
. . 3

QﬁWWX@W&aqu

ACS P(X=k) =
PX=K=P((X=k+1) g1, g e

9. (@) The followi
| ollowing table gij
. gives i
angt?bgs. for different group;hgf l’::ldex
S 20811” respective weights fi r the
S (base year = 2000). - o the

R SIS 2005 5 »
7 R T T (Rfw 2000
AR | PF AIF SIPTR

Group (C15)
Food (W) M‘;;‘L"’ Group indices (¢1q 75orc)

Clothing (st o) 410
Fuel (3%) 450
House Rent (% o) 10‘ 300

370

Others (%) 5| o

4 (Sem-3/CBCSI BUORB HG 1736 1

Calculate the cost of living Index
number and interpret the result.
B 4+1=5

S e T D A T S A
stestf YT T

(p) Mention any five properties of binomial

| 5

distribution. | . ,
Bl 3% I ik Aocaiall
'by “time series”?

10. (@) What do you mean
Explain various components of time
. : 6

o T @R Rfew

series.

“iﬁfﬁ mﬁ» W ﬁs @
BTN g F

(b) Frofn owing data find the trend

values oving average

| 4

method :
W@mwsa@mmwmﬁmm@w

Wi Fefa = 8
1 1992 199 1994 - 199

the foll
by. S yearly m

Year. . 1990 199 5 199 1997 1998
(=) '_ -
s % 4B 8 ¥ 4 s ¥ ¥ M
(f) | |
- Contd.
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) Ex
plain p
alt - kllgh :
ﬁ@ernatlw; hyDOth}; I;?thesls afid OPTION-B
ﬁw S
S5 : - NS (e
R ermm <grept = paper : COM-HG-3026
( Operations Research in Business)

(it)
1. Answer the following as directed :
1x10=10

a finite t replaceme
41 unl_tlzopl.llation COnSi:tE from
SandliE the po Ilg‘ of i’ :
pulation oo MRS R CRIRIRIRCCE] o 2

Stand :
: ard deviation ig 6-25
» what (@) What is critical path ?

is
me;};e? standard error of sample
gl AL -2
(Il B 57y TR ofay 4+2=6 | (b) Define inventory control.
SRR - g st el A

What is float of an activity ?

(c)

=, s
®) Wi gl “‘“ﬁ%ﬁr?gfaﬁ%
: rite .Short Notes Sq @sfigl ARl SMC 2
Ollowlng . on any two £
oI the (d) Define extreme point.

il

gramming proble
more decision variables is

m involving

Wﬁmmrm 53 &t Bray o 2+2=4

(i) Sampling error
(e) Linear pro

Aovz @
(i) Non three or
-S : :
Wa%mim@p;ng <EIop ' : (Fill in the blank)
(), Tevel of w: %ﬁﬁmwﬁr@ﬁwm@@@%wﬁm
Hiefrer Significance | STOgE R ——— oGS R = |
i (<15 313 97 79)
41 e () What is optimum solution ?
Sem-3/CBCS) B ¥
/CBCS| BST/ORBHG 1/2/6 14 | | AT 2
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@ Define set up cost,
T =B Wtsiy gy )

) Econormc order Quantity is

. WWWW@@

) to determine an optimum order
quantity

‘ﬂﬁfﬁ?ﬁﬁ@wqﬁﬂm -

9 TS T 29T
(iii) a lot size problem
ITS AT 01
| (iv) All of the above
' 89 Wﬁf?&aﬁﬁ |
' (Choose the correct one)

(o7 o0 sy amqy)
(i) What is ABC analysis P

() Define activity
A ket

4 (Sem-3/CBCS) BST/ORB HG 12/ 16

(i) to minimize total inventory cost

2.

3. Answer any fo

2x5=10

rt
Answer the following in sho

wore TrIaRs vy e ol 8
(a) Define feasible solution.
ezt frat |
FET FAYRI N ) and
(b) Write the d1fference between PER

CPM.

|
PERT % CPM 3 iwe Ay

Define EOQ.
'(C) w:ﬁaﬁww SRR e |

‘w { OnentS ' Of inventOI y
are the Comp :

_control ?

@C‘g%sl FJR @ﬂTW = ﬁ?
(e) Define holding cost.
gt 8 e

ur questions : 5x4=20

ﬁwmwﬁﬁm@@ﬁ‘" :

cteristics of
and charac
the nature

method.
Write the procedurc of graphical
(b) ri

Wmm|

17
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(J Solve
graphlc
probiy (LPP?HY the linear programme
ald w A SRIACHT ?ﬁﬂas afS RS
' M
: aximize Z = 3x; +2x,
Srve e sub_]ect to (5% Wﬂmfs)
X 2
X +JC2 3
@ b et
o ,
/ Cﬁ;‘lte the concept of slack variable.
CoRGReT giett o

(e). Write th
e differéence betwe
'VED analysis. *n ABC and

~ ABC WIS VED Resgeq mqﬁs;ﬁ,“,

() Explain th
e basm st
' techniques, eps in PERT/CPM

PERT/ CPM an m""’{i
R GIRGT 5]y |

vV IA A ll

‘ 4. An
| swer any four questions

ﬁmmwﬁ?rm@mm

(@) (i) Whatar
at are the economjc
in anentory 5 parameters

mﬁ“‘%ww@mﬁu
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10x4=40
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(i) Describe the basiC characteristic
of an inventory system.
TS Sfeent «ﬂ%ﬁ TR e T
31

(b) Solve by simplex method

Hars Arafocs 4T T S

C Z=x+2%+3%

subject to (56 HAATF)

Xy +2x5 +3x3 < 10
x+xy £ 5

(c) Explain the terms in the context of LPP:
R galfs] PN rEe SO I T4 &

Objective function

SRS E® TR

gative constraints

(t)

(i) Non-n€

e alia: RS
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@

Write about the concepts of

inventory control.
T R e Race Bl

(@) A firm is considering replacement
of a machine whose cost price is
Rs.17,500 and the scrap value is
Rs.500. The maintenance costs (in

Rs.) are found from experience to
be as follows -

<! PG 1 T o <par 2l RS
*ﬁwwﬁmww,soowm
CEFITo T20= 500 Bept | e I7
SfSEeR +iq) w1 Bbicet @ a1 ¢

Year (%) S LN BRI i R ) g

Maintenance cost (Rs): 200 300 3,500 1,200 1,800 2,400 3,300 4,500
SRR 7 (Ga)

When should the machine be
replaced ?

TFE! (ST T 1 Bw

3/CBCS) BST/ORBHG 1/2/6 20
4 (Sem-

wi time
() A project has the followlng

schedule :

| 4 5-6 g
S i
o 1 L :
2 | 7-8 2
Z:: 6 8-10 S
i 5 9-10 7

| Draw the arrow diagram.

i Ba |
i tion.
) Critical path and its durati
" T |
gl A SE Buis

thlty
for each ac
wee ta]_ ﬂoat
(ii) To

1
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@ A company has to purchase four items
A, B, C and D for the next year. The
projected demand and unit price

~_ (in Rs.) are as follows :

A, B, cwnmaﬁaaﬁalﬁwﬂ@

S S T Ty (B) AR R 3
Item © Demand  Unit Price (Rs.)
R/ TRR o ()

A 60,000 '3

. B 40,000 2
C - 1200 . 24
D 15,000 4

If the company want to restrict thé total
" number of or'de;rs to 40 for all the four
items, how many orders should be

- placed for each item. .

it cer=iiTica SIREB IR A 15 e
Y 40 o1 s ik Kot 2focst iz
A R oG = =)
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(@) Write notes on :
Rt Brare |
(). Phases of project management
oA R srfferg
(i) LPP '
<RI

13000




